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v)  Solve graphically the game whose pay-

b) i) Solve the following transportation
matrix is given below:

problem:

Destinations

3

B D, D, 8

A1 st 4 2 -5
> -

A | -3  SEEEE |

k- D 19 4@ 50 10 | 7
_.m, o..170 388 40 601 9
© o |40 ©8 70 20 | 18
b 5 8 7 19

(o8
o

vi) Prove that Hyperplane is a convex set.

3. Answer any two questions: 10x2=2

a) i) Solve the following L.P.P. graphically: 6

Max Z = 4x, + 3x, i) Find the dual problem from the following
subject to X, +x, <50 primal problem:

Maximize Z = 3x, — 2x,

X, +2x, <80
subject to x, 4
X, +Xx, 220
X, 80
Eex. 20
1» X2 X #x, = 5
ii) Solve the L.P.P. by Simplex method: Xy %l
Minimize Z = x, - 3x, + 2x, Xy %, 20 4
!
subject to 3%, =X, +2x,<7 ¢) i) Find the value of the game and the
2%, +4x, <12 optimal strategy for each n_.&n.q om. the
game whose pay-off matrix 1s given
Ihx_ +3x, +8x, < 10 below: !
X, 2 0.
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